i

@

(@)

(ii)
(iii)
(iv)

(b)
(i)

{Li) s

o
e

)

Attempt any two of the followmg ;
Stability of carbocation is also achieved thro ghn '
effect. Explain the above with respect to actxon of SbF ri Ilq SO
p-MeOCsH:CH,CH,CI, e |
Write mechanism of any rearr angement whlch mvolves mtx‘ene T
intermediate. '
Explain the role of FMO in reactions mvolvmg hard and soft nucleophﬂes’, o
and electrophiles. '

What do you understand from frontler orb1tal and orbital symmetry?
Explain with diagrammatic presentation, [llustrate what happens when g
molecule/ion is exposed to sultable wavelength of l1ght7 | :

Attempt any one of the following: - 04
Complete the following reactions by 1dent1fy1ng A, B @ and D. Give the
reaction 1ntermed1ates generaled 4 e :

e 5 b reie

OMe
| (L NH
© KNIL | A 5
B el '
: Explain molecular orbital basis for the a-effect. !
08

Attempt any ‘two of the following:
Dlscuss 51te sele(_tlwty of D1els Alder reaction,

Explam FMO approach towards cyclization of 4nn system.,

Account for 1 3- dlpolar cycloaddition with a suitable example.
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~under Sy conditions. Explain,

disrotatory = 5

Attempt any two of the following: ' , : g
Draw the conformations of cyclooctane and discuss the evidences in

favour of its most stable conformation.

‘Chromic acid oxidation of an axial alcohohlic. gro’up is faster than that of
an equatorial alcoholic group in cycl‘oheXanql;"'Explain this statement.

Explain the stereochemistry of rings 'A'_ahd B of steroid system.

Conformation reactivity correlation depends on selection of substrate.
Explain this statement by considering conformationally rigid
diastereomers.

Attempt any one of the following: 04

Menthyl chloride undergoes dehydrohalogenation on treatment with base
at a sluggish (slow) rate and gives 2-menthene as the major product.

Explain. ;

Acetolysis of cis-4-tert. butyleyclohexyltosylate is faster than trans-isomer

Draw the chair conformers of decalin and discuss their symmetry.

Attempt any two of the following:
Complete the following reactions with mechanism. ' e
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':photoquenchmg . - :
Discuss the cleavage of a bond f
reactions of ketones Give mechanism

(b) Attempt any one of the followmg ;
(i) Predict the products and give the mecharusm-

o |
(ii)  Complete the follo_wing reactions and i;,iénti..,fy,the’pYOdiu,CtSf ¥
o hy, P

(CeHz)y = CH= C(CH ), - -CH= N- c:H2 c:SH5 B

, éH3"’ g ."_3': S0
ok | ' hy , Q

(W

| t an four of the following;
aft:ft?s notg on per1selectw1ty with suitable examples
te »of solvolysis (acetolysis) of the cis and trans ‘
cyclo fosylate dlffer by a factor of about 7(
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(d)  Discuss formation of vit D from 7-dehydrocholeserol using perwy clic
reaction. Siiat s

e) Suggest the symmet'ry elements and pomt group present in twist-boat
cyclohexane. S >

f) Explain Bredt's rule with two examples

g) Complete the follbwing reaction and give its mechanism.
' OCOC ,H;
hy 2
: h) Dé_fine and giVé ni.ec_hanism of phdtoéehsitization. Give

two examples,

b g 5 v ¥
**********#*******1\-****************
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